Korjaus, BY 211, 0sa 2 sivu 70 esimerkki 8/6

A 2
p, = ADmm g 5667,
Y d,k, 168 mm-100 mm
A 2
p = e __M3mM 6406

- d k. 155 mm-150 mm

p, = min (\/pL,,  pr; 0,02) = min(:/0,00672 - 0,00486; 0,02) = 0,00571

MITOITUSJANNITYS:

Epékeskisyyden huomioonottava kerroin

p =115 (Keskipilari: kuva 22/6)
Perustarkastuspiirin pituus

u = 2(c1 +cz)+47zd = 2-(400+300)mm+4-72'-162 mm=3,433 m)
Mitoituskuorma perustarkistuspiirillg

VEd.lzﬁVEd =L15- 0.50 MN
du, 0,162m-3,43m

LAVISTYSKESTAVYYS:

=0,621 MPa

“Nimellinen” poikkileikkaus

D =Jcc, =[400mm-300mm =346 mm

Kerroin

2+1,5 ﬁﬂ,s
c 0,3 \ d 0,3 {162

Rde — = :
Ve (D+4 1’5 (3464_4)
d 162

Kerroin

=0,119

N 200mm
k =min d =20
2,0

Léavistyskestavyys



